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bedrijfseconomie HAVO 2021-3 

uitwerkbijlage 

 

11 en 13  
exploitatiebegroting 

Opbrengsten 
Omzet (zie vraag 11) ………….. 

Kosten 
Inkoopwaarde van de omzet 126.818 
Loonkosten …………. 
Interestkosten (zie vraag 12) …………. 
Overige kosten    30.000 
Totale kosten ………….. 
Bedrijfsresultaat ………….. 

berekeningen: 

Loonkosten 

Bedrijfsresultaat 
als percentage 
van de investering 

Conclusie:  .................................................................................................  

 ..................................................................................................................  

Naam kandidaat __________________________  Kandidaatnummer ____________


